

DISTRICT 3 16163J NON-FEDERAL

PROJECT: DISTRICT 3

STATE PROJECT NUMBER: 16163J

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 02, 2021, 2:00
SCOPE OF WORK: Resurfacing various tie

Resurfacing various tier 2, 3, and 4 roadways in District 3.

COMPLETION DATE:

October 01, 2021

LOCATION: Belknap, Merrimack, Grafton, Carroll

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: Award Date:

\$3,827,336.32

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$3,827,336.32	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
CONTINENTAL PAVING INC	\$4,022,939.36	В
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		
GMI ASPHALT LLC	\$4,086,076.62	С
288 LACONIA ROAD, BELMONT NH 03220		



DISTRICT 3 16163J NON-FEDERAL

					PS&E	3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220	1 CONTINI	TAL PAVING INC ENTAL DRIVE ERRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	_				T				
202.7	REMOVAL OF GUARDRAIL	LF	1,737.50	\$3.50	\$6,081.25	\$1.20	\$2,085.00	\$1.20	\$2,085.00
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$1,184.30	\$4,737.20	\$850.00	\$3,400.00	\$1,000.00	\$4,000.00
203.5562	EAGRT PLATFORM ALTERNATE	U	11.00	\$1,350.00	\$14,850.00	\$850.00	\$9,350.00	\$1,000.00	\$11,000.00
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	2.00	\$1,254.91	\$2,509.82	\$900.00	\$1,800.00	\$1,500.00	\$3,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$389.28	\$5,994.91	\$350.00	\$5,390.00	\$450.00	\$6,930.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,678.50	\$20.00	\$113,570.00	\$18.00	\$102,213.00	\$20.00	\$113,570.00
403.11053	HBP-3/8" WEARING, MM	TON	2,369.94	\$89.72	\$212,631.02	\$65.00	\$154,046.10	\$67.00	\$158,785.98
403.11823	HBP-POLYMER MODIFIED BINDER, MM	TON	912.92	\$90.00	\$82,162.80	\$70.00	\$63,904.40	\$75.00	\$68,469.00
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	7,411.90	\$79.00	\$585,540.10	\$68.00	\$504,009.20	\$75.00	\$555,892.50
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,335.36	\$87.67	\$204,741.01	\$67.00	\$156,469.12	\$75.00	\$175,152.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	101.20	\$203.18	\$20,561.82	\$150.00	\$15,180.00	\$150.00	\$15,180.00
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	4.43	\$378.13	\$1,675.12	\$500.00	\$2,215.00	\$200.00	\$886.00
403.16	PAVEMENT JOINT ADHESIVE	LF	105,047.70	\$0.29	\$30,463.83	\$0.23	\$24,160.97	\$0.23	\$24,160.97
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,882.50	\$1.50	\$14,823.75	\$2.00	\$19,765.00	\$1.50	\$14,823.75
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	30,209.00	\$2.73	\$82,470.57	\$3.00	\$90,627.00	\$3.50	\$105,731.50
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,470.64	\$76.42	\$188,806.31	\$64.00	\$158,120.96	\$66.00	\$163,062.24
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	24,314.81	\$77.00	\$1,872,240.37	\$64.00	\$1,556,147.84	\$65.00	\$1,580,462.65
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	4,600.00	\$67.36	\$309,856.00	\$64.00	\$294,400.00	\$70.00	\$322,000.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,099.00	\$2.42	\$99,459.58	\$2.00	\$82,198.00	\$2.25	\$92,472.75
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	10,088.90	\$3.49	\$35,210.26	\$1.50	\$15,133.35	\$1.85	\$18,664.47
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	40.00	\$148.19	\$5,927.60	\$119.75	\$4,790.00	\$119.75	\$4,790.00
604.0007	POLYETHYLENE LINER	EA	34.00	\$125.48	\$4,266.32	\$125.00	\$4,250.00	\$125.00	\$4,250.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	29.00	\$517.48	\$15,006.92	\$400.00	\$11,600.00	\$450.00	\$13,050.00



					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	7.00	\$466.46	\$3,265.22	\$400.00	\$2,800.00	\$450.00	\$3,150.00
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$517.18	\$2,585.90	\$500.00	\$2,500.00	\$500.00	\$2,500.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	5.00	\$3,362.55	\$16,812.75	\$3,000.00	\$15,000.00	\$3,250.00	\$16,250.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$3,166.18	\$31,661.80	\$3,000.00	\$30,000.00	\$3,250.00	\$32,500.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,767.53	\$5,535.06	\$2,500.00	\$5,000.00	\$2,850.00	\$5,700.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	712.50	\$24.50	\$17,456.25	\$22.00	\$15,675.00	\$22.00	\$15,675.00
608.1201	2" BITUMINOUS SIDEWALK	SY	28.70	\$79.56	\$2,283.37	\$75.00	\$2,152.50	\$100.00	\$2,870.00
608.2401	4" CONCRETE SIDEWALK	SY	102.40	\$100.00	\$10,240.00	\$75.00	\$7,680.00	\$100.00	\$10,240.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	24.60	\$516.37	\$12,702.70	\$450.00	\$11,070.00	\$500.00	\$12,300.00
609.5	RESET GRANITE CURB	LF	146.00	\$108.41	\$15,827.86	\$50.00	\$7,300.00	\$50.00	\$7,300.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	2.00	\$608.33	\$1,216.66	\$550.00	\$1,100.00	\$500.00	\$1,000.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	13.00	\$1,076.81	\$13,998.53	\$1,000.00	\$13,000.00	\$950.00	\$12,350.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	39,500.00	\$1.00	\$39,500.00	\$1.00	\$39,500.00	\$1.00	\$39,500.00
618.7	FLAGGERS	HR	4,360.00	\$37.00	\$161,320.00	\$32.00	\$139,520.00	\$36.00	\$156,960.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,200.00	\$2,400.00	\$1,250.00	\$2,500.00	\$1,500.00	\$3,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	18.00	\$5.00	\$90.00	\$5.00	\$90.00	\$5.00	\$90.00
621.31	SINGLE DELINEATOR WITH POST	EA	21.00	\$43.50	\$913.50	\$45.00	\$945.00	\$45.00	\$945.00
621.32	DOUBLE DELINEATOR WITH POST	EA	11.00	\$65.87	\$724.57	\$55.00	\$605.00	\$55.00	\$605.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	366.00	\$3.14	\$1,149.24	\$8.00	\$2,928.00	\$5.00	\$1,830.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	105.00	\$0.70	\$73.50	\$0.80	\$84.00	\$0.75	\$78.75
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	577.70	\$1.50	\$866.55	\$3.75	\$2,166.38	\$4.00	\$2,310.80
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,618.10	\$0.45	\$728.15	\$1.00	\$1,618.10	\$2.00	\$3,236.20
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	130.40	\$3.75	\$489.00	\$5.00	\$652.00	\$4.00	\$521.60
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	532.80	\$1.24	\$660.67	\$3.00	\$1,598.40	\$4.00	\$2,131.20
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	44.00	\$44.86	\$1,973.84	\$30.00	\$1,320.00	\$50.00	\$2,200.00

New Hampshive Department of Transportation

ABC Bid Data

			PS&E PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		PS&E		3 EASTGATE PARK ROAD		TAL PAVING INC IENTAL DRIVE ERRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
692.	MOBILIZATION	U	1.00	\$180,000.00	\$180,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	29,277.00	\$1.00	\$29,277.00	\$1.00	\$29,277.00	\$1.00	\$29,277.00
			Totals:	\$4,627,338.68		\$3,827,336.32			\$4,022,939.36
	Alt. Totals		Alt. Totals:						
			Totals:		\$4,627,338.68		\$4,627,338.68 \$3,827,336.32		\$4,022,939.36



DISTRICT 3 16163J NON-FEDERAL

				F	PS&E	288 LAC	PHALT LLC ONIA ROAD IT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	1,737.50	\$3.50	\$6,081.25	\$3.00	\$5,212.50	
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$1,184.30	\$4,737.20	\$1,585.00	\$6,340.00	
203.5562	EAGRT PLATFORM ALTERNATE	U	11.00	\$1,350.00	\$14,850.00	\$1,540.00	\$16,940.00	
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	2.00	\$1,254.91	\$2,509.82	\$1,480.00	\$2,960.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$389.28	\$5,994.91	\$725.00	\$11,165.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,678.50	\$20.00	\$113,570.00	\$19.00	\$107,891.50	
403.11053	HBP-3/8" WEARING, MM	TON	2,369.94	\$89.72	\$212,631.02	\$64.75	\$153,453.62	
403.11823	HBP-POLYMER MODIFIED BINDER, MM	TON	912.92	\$90.00	\$82,162.80	\$74.90	\$68,377.71	
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	7,411.90	\$79.00	\$585,540.10	\$75.90	\$562,563.21	
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,335.36	\$87.67	\$204,741.01	\$71.50	\$166,978.24	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	101.20	\$203.18	\$20,561.82	\$90.00	\$9,108.00	
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	4.43	\$378.13	\$1,675.12	\$200.00	\$886.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	105,047.70	\$0.29	\$30,463.83	\$0.26	\$27,312.40	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,882.50	\$1.50	\$14,823.75	\$2.00	\$19,765.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	30,209.00	\$2.73	\$82,470.57	\$3.40	\$102,710.60	
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,470.64	\$76.42	\$188,806.31	\$64.75	\$159,973.94	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	24,314.81	\$77.00	\$1,872,240.37	\$64.75	\$1,574,383.95	
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	4,600.00	\$67.36	\$309,856.00	\$64.75	\$297,850.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,099.00	\$2.42	\$99,459.58	\$1.50	\$61,648.50	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	10,088.90	\$3.49	\$35,210.26	\$1.50	\$15,133.35	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	40.00	\$148.19	\$5,927.60	\$130.00	\$5,200.00	
604.0007	POLYETHYLENE LINER	EA	34.00	\$125.48	\$4,266.32	\$138.00	\$4,692.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	29.00	\$517.48	\$15,006.92	\$650.00	\$18,850.00	



					PS&E	288 LAC	SPHALT LLC CONIA ROAD NT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	7.00	\$466.46	\$3,265.22	\$450.00	\$3,150.00		
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$517.18	\$2,585.90	\$800.00	\$4,000.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	5.00	\$3,362.55	\$16,812.75	\$3,900.00	\$19,500.00		
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$3,166.18	\$31,661.80	\$3,900.00	\$39,000.00		
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,767.53	\$5,535.06	\$3,400.00	\$6,800.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	712.50	\$24.50	\$17,456.25	\$24.00	\$17,100.00		
608.1201	2" BITUMINOUS SIDEWALK	SY	28.70	\$79.56	\$2,283.37	\$25.00	\$717.50		
608.2401	4" CONCRETE SIDEWALK	SY	102.40	\$100.00	\$10,240.00	\$85.00	\$8,704.00		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	24.60	\$516.37	\$12,702.70	\$500.00	\$12,300.00		
609.5	RESET GRANITE CURB	LF	146.00	\$108.41	\$15,827.86	\$55.00	\$8,030.00		
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	2.00	\$608.33	\$1,216.66	\$480.00	\$960.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	13.00	\$1,076.81	\$13,998.53	\$1,140.00	\$14,820.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	39,500.00	\$1.00	\$39,500.00	\$1.00	\$39,500.00		
618.7	FLAGGERS	HR	4,360.00	\$37.00	\$161,320.00	\$38.00	\$165,680.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,200.00	\$2,400.00	\$1,550.00	\$3,100.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	18.00	\$5.00	\$90.00	\$9.00	\$162.00		
621.31	SINGLE DELINEATOR WITH POST	EA	21.00	\$43.50	\$913.50	\$55.00	\$1,155.00		
621.32	DOUBLE DELINEATOR WITH POST	EA	11.00	\$65.87	\$724.57	\$65.00	\$715.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	366.00	\$3.14	\$1,149.24	\$12.00	\$4,392.00		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	105.00	\$0.70	\$73.50	\$1.50	\$157.50		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	577.70	\$1.50	\$866.55	\$4.00	\$2,310.80		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,618.10	\$0.45	\$728.15	\$3.00	\$4,854.30		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	130.40	\$3.75	\$489.00	\$5.00	\$652.00		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	532.80	\$1.24	\$660.67	\$5.00	\$2,664.00		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	44.00	\$44.86	\$1,973.84	\$45.00	\$1,980.00		

New Hampshire Department of Transportation

ABC Bid Data

DISTRICT 3 16163J NON-FEDERAL

				PS&E		PS&E GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220		288 LACONIA ROAD			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
692.	MOBILIZATION	U	1.00	\$180,000.00	\$180,000.00	\$135,000.00	\$135,000.00				
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00				
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00				
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00				
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00				
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00				
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	29,277.00	\$1.00	\$29,277.00	\$1.00	\$29,277.00				
			Totals:	\$4,627,338.68		\$4,086,076.62					
			Alt. Totals:						·		
			Totals:		\$4,627,338.68		\$4,086,076.62				

Wednesday, March 17, 2021



PS&E Comparison

				A-Bide	der	PS8	kЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	1,737.50	\$1.20	\$2,085.00	\$3.50	\$6,081.25	(\$3,996.25)
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$850.00	\$3,400.00	\$1,184.30	\$4,737.20	(\$1,337.20)
203.5562	EAGRT PLATFORM ALTERNATE	U	11.00	\$850.00	\$9,350.00	\$1,350.00	\$14,850.00	(\$5,500.00)
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	2.00	\$900.00	\$1,800.00	\$1,254.91	\$2,509.82	(\$709.82)
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$350.00	\$5,390.00	\$389.28	\$5,994.91	(\$604.91)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,678.50	\$18.00	\$102,213.00	\$20.00	\$113,570.00	(\$11,357.00)
403.11053	HBP-3/8" WEARING, MM	TON	2,369.94	\$65.00	\$154,046.10	\$89.72	\$212,631.02	(\$58,584.92)
403.11823	HBP-POLYMER MODIFIED BINDER, MM	TON	912.92	\$70.00	\$63,904.40	\$90.00	\$82,162.80	(\$18,258.40)
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	7,411.90	\$68.00	\$504,009.20	\$79.00	\$585,540.10	(\$81,530.90)
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,335.36	\$67.00	\$156,469.12	\$87.67	\$204,741.01	(\$48,271.89)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	101.20	\$150.00	\$15,180.00	\$203.18	\$20,561.82	(\$5,381.82)
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	4.43	\$500.00	\$2,215.00	\$378.13	\$1,675.12	\$539.88
403.16	PAVEMENT JOINT ADHESIVE	LF	105,047.70	\$0.23	\$24,160.97	\$0.29	\$30,463.83	(\$6,302.86)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,882.50	\$2.00	\$19,765.00	\$1.50	\$14,823.75	\$4,941.25



PS&E Comparison

DISTRICT 3 16163J NON-FEDERAL

				A-Bid	der	PS	\$Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	30,209.00	\$3.00	\$90,627.00	\$2.73	\$82,470.57	\$8,156.43
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,470.64	\$64.00	\$158,120.96	\$76.42	\$188,806.31	(\$30,685.35)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	24,314.81	\$64.00	\$1,556,147.84	\$77.00	\$1,872,240.37	(\$316,092.53)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	4,600.00	\$64.00	\$294,400.00	\$67.36	\$309,856.00	(\$15,456.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,099.00	\$2.00	\$82,198.00	\$2.42	\$99,459.58	(\$17,261.58)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	10,088.90	\$1.50	\$15,133.35	\$3.49	\$35,210.26	(\$20,076.91)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	40.00	\$119.75	\$4,790.00	\$148.19	\$5,927.60	(\$1,137.60)
604.0007	POLYETHYLENE LINER	EA	34.00	\$125.00	\$4,250.00	\$125.48	\$4,266.32	(\$16.32)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	29.00	\$400.00	\$11,600.00	\$517.48	\$15,006.92	(\$3,406.92)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	7.00	\$400.00	\$2,800.00	\$466.46	\$3,265.22	(\$465.22)
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$500.00	\$2,500.00	\$517.18	\$2,585.90	(\$85.90)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	5.00	\$3,000.00	\$15,000.00	\$3,362.55	\$16,812.75	(\$1,812.75)
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$3,000.00	\$30,000.00	\$3,166.18	\$31,661.80	(\$1,661.80)
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,500.00	\$5,000.00	\$2,767.53	\$5,535.06	(\$535.06)
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	712.50	\$22.00	\$15,675.00	\$24.50	\$17,456.25	(\$1,781.25)

Wednesday, March 17, 2021 Page 9 of 11



Department of Transportation

DISTRICT 3 16163J NON-FEDERAL

		1	_	A-Bide	der	PS8	ξΕ.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
608.1201	2" BITUMINOUS SIDEWALK	SY	28.70	\$75.00	\$2,152.50	\$79.56	\$2,283.37	(\$130.87)
608.2401	4" CONCRETE SIDEWALK	SY	102.40	\$75.00	\$7,680.00	\$100.00	\$10,240.00	(\$2,560.00)
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	24.60	\$450.00	\$11,070.00	\$516.37	\$12,702.70	(\$1,632.70)
609.5	RESET GRANITE CURB	LF	146.00	\$50.00	\$7,300.00	\$108.41	\$15,827.86	(\$8,527.86)
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	2.00	\$550.00	\$1,100.00	\$608.33	\$1,216.66	(\$116.66)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	13.00	\$1,000.00	\$13,000.00	\$1,076.81	\$13,998.53	(\$998.53)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	39,500.00	\$1.00	\$39,500.00	\$1.00	\$39,500.00	\$0.00
618.7	FLAGGERS	HR	4,360.00	\$32.00	\$139,520.00	\$37.00	\$161,320.00	(\$21,800.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00	\$100.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	18.00	\$5.00	\$90.00	\$5.00	\$90.00	\$0.00
621.31	SINGLE DELINEATOR WITH POST	EA	21.00	\$45.00	\$945.00	\$43.50	\$913.50	\$31.50
621.32	DOUBLE DELINEATOR WITH POST	EA	11.00	\$55.00	\$605.00	\$65.87	\$724.57	(\$119.57)
628.2	SAWED BITUMINOUS PAVEMENT	LF	366.00	\$8.00	\$2,928.00	\$3.14	\$1,149.24	\$1,778.76
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		105.00	\$0.80	\$84.00	\$0.70	\$73.50	\$10.50
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	577.70	\$3.75	\$2,166.38	\$1.50	\$866.55	\$1,299.83
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,618.10	\$1.00	\$1,618.10	\$0.45	\$728.15	\$889.95

Wednesday, March 17, 2021 Page 10 of 11



PS&E Comparison

DISTRICT 3 16163J NON-FEDERAL

Item No.	Description	Unit		A-Bidder		PS&E		
			Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	130.40	\$5.00	\$652.00	\$3.75	\$489.00	\$163.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	532.80	\$3.00	\$1,598.40	\$1.24	\$660.67	\$937.73
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	44.00	\$30.00	\$1,320.00	\$44.86	\$1,973.84	(\$653.84)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$180,000.00	\$180,000.00	(\$130,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	29,277.00	\$1.00	\$29,277.00	\$1.00	\$29,277.00	\$0.00

Total: \$3,827,336.32 \$4,627,338.68 (\$800,002.36)

Wednesday, March 17, 2021 Page 11 of 11